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= & #IE | #HIERTDEE WWIEZE &t
— fi% & &t F15 8,725,849 26,595 8,752,444
ERERRKRER=E 2,075,513 2,075,513
B EnEERRNN &5 200,992 200,992
nTERRKR®S N = 1,046,441 1,046,441
NEY—ERERSE 27,763 27,763
TKRKEFEXRNRE 858,390 858,390
MK RERFINRE 32,327 32,327
#w & &t 12,967,275 26,595 12,993,870
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i B fHIERTDEE| 4 1E %8 it HEBEOELAR
1 HT i 4,806,716 4,806,716
2 K E 5 57,600 57,600
3 F F A X =& 1,000 1,000
4 B oH A X & 14,000 14,000
5 HASEEMSIRLR 15,000 15,000
6 EAFEBRIXfMNE 92,348 92,348
7 WMAHEHEBRIMNE 670,489 670,489
8 BEMHRIAXF= 6,000 6,000
9 M A H X MF & 29,557 29,557
10 #1 A X f B 1 1
11 REREHEEIXTR 3,900 3,900
12 HEERVAESR 121,305 121,305
13 EFAMRYFHH 57,878 57,878
4 B B X M £ | 1430573 14505 145168 EEATACEEEERRONG Sk kRuDS
15 & 52 H & 737,173 12,000 749,173 - EFBFE CHSEERERIGHSANSLARDS
16 Bt E 1 A 33,245 33,245
17 & 5] & 180,002 180,002
18 #2 A & 241,476 241,476
19 #& 4 i 30,000 30,000
20 &% 1 A 39,686 39,686
21 HT & 157,900 157,900

m A& F 8,725,849 26,595 8,752,444
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il B fHIERTDEE| 4 1E %8 & HEBEOELAR
1 & & 7 84,604 84,604
2 #& % 7 1,202,467 1,202,467
3 R % =1 3,427,648 26,595| 3,454243| - EFETE CHBEELERABHSBAEEE
4 @ % & 713,743 713,743
5 % & = 2,846 2,846
6 B M K E X & 51,808 51,808
7 ™ I & 26,691 26,691
8 = K & 849,980 849,980
9 H ;] = 329,310 329,310
10 % ] = 1,503,811 1,503,811
nm K F # B # 0 0
12 2 & & 521,340 521,340
13 & 52 H i 1,601 1,601
14 % ] & 10,000 10,000
A = 8,725,849 26,595 8,752,444




